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The figures i the margin ndicate full marks
for the gqueston:

answer five guesuons. takin- one from each Unit

pwfinee et Exnizan tne different wwoes of
P, l+5=6
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Thezs oare 1400 shadenis o @ colleps
VESD can play doothail, 957 can play

crigiet mand 50 studeniz can peither
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play football wvor cricket. How many
students can play both cricke: and
foothall? 4

Define Cartetian produet. Find the
Cartesian preduet of XY, o

Xzjx:x=) &
Ye.y:y=% -l L +3=4

What is break- wwen point? 2
Nefine a functon, Explam its ypes. 246=8

Solve the following by methed of
substitution 9
x+by—=z=10
2x~3y-32=17
3x-3y=-2z=-9

Unrr—II

Define real aumber. Expiain  1he
axigmatic properties of a real number.
146=T

Prove that

d-'t;[fl':f:]i +fys ~ ) 4

Find the siope of the line passmg
through a2 vk, h+k) ([a+m, b+ m). 3
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Express | 1“] in the form a +ib, where

- I

a and b ae real numbers., 5
Find the coordimares of Py, i dividing
the line sezment joining (1,32 (3.49)
externzlly in the ratio 5: 4. 4
Find the stendard form of the parabola
¥ -Ay-4x-8=0 5
Usir—I1
State two boasic ipat theorems. 242=4
Evaluate the Lmit of 1the function
T .'l.'”-i.l-ﬂ
a=vd x4+ x—-12 4
Explain the rules of differentiation. £
Fiud out the maximum and minimum
value of the [unctien
¥=x?-0x? 15 +20 B
Given total cost Junction as
0 -30? +150+27
Find AC and MC. Dald=d
{ Turm Over |



i
7. o
fhy
B. ()
(b}
Q. (a)
20L/6

[ %)

A monopolist faces a demand schedule
P=460-2q and TC=20+0-59°. How
much should it sell to maximize proit? 3

Unir—1v

Define integration. What are the basic
rules of integration” 2+6=8

Find the integral ol the [ollowing :  3x2=56
iy J'[*:;x " i]dx

I-EJL+-3
+ 3x

dx

Suppose the producer’s supply function
is given by Q= J-d +4F and market

price is 10. Find the producer's surplus. 8
Find the integral of the following :  3=2-6

i [ 2x? + 5 dx
fid) I:L: 2 o2x+3)(Bx -8 dx
UniT—V

Define matrix. What are the types of
matrx? 245=7
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Prove A+ 8)"=A + B when

20 4 0
A= and B = -?
113 0 1] 3l
If
a1
f2 3 0 [
-l Dwl2 3
15 1 2 :
Lt si
‘hen show that Affis not equal to BA, 3z

Solve the equason: using Cramer's
rule 7
Gx-Uiy+dx=8
2x+y-2=1
dx=-3y+22=4

Solve the ellowing syvstem of equations
by matrix inversion :

=]

Ox; +8x, +2x4 =10
3x; +2x5 +0x, =18
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